. As

1: Video' is related to ‘Cassefte’,
smilarly ‘Computer is related to
"Floppy -

. As ‘Blood sugar is measured by

‘Blood
by

‘Glucometer’ similarly
Pressure’ is measured
‘Sphygmomanometer .
‘Behaviour is studied in
‘Psycology’, similarly ‘Plants’ are
studied in ‘Botany’.

. As ‘Mytocondria’ carries ‘energy’

similarly “ONA’ carries ‘structure of
genes’.

. As ‘mirage’ occurs due to heating up

of air just above the surface of the
‘Desert’. Similarly, ‘EL-Nino’ effect
occurs due to heating up near the sea
surface.

525 @ 25 315 ¢ 15
\/ \.—/
<21 +21
7 y
. Except 3 all others are simple

fractions.

8. ‘Navigation’ is different from others.

10.

11.

12.

13.

14,

-1 - -1 -1
@) IY"‘ IX? e T o

ol ol +1 4l
© N ML Ds w1
. Option (d) is different.

i, o +2 -1
@ ZVZ l\} R N

8] 4 42
©@p R Q @ % &
.. Option (d) is different.
(a) 1-1x5=5

(b) 45 4x5=20
(©) 5— 5%x13 =65
(@) 7—-7%x5=35
.~ Option (c) is different.
The pair 91-12 is a set of co-prime
numbers.
The required order is as follows:
Mercury < Venus < Earth < Mars <

)] ) (2) (3)
Jupiter

(5)
The above order is based on their
distances from the Sun.
The required order is as follows:
Pages < Books < Book rack <

(1) (4) (2)
Cartalogue < Library

(5} (3)

15.
16.

17.

18.

18.

20.

21.

22.

23,

24.

25.

26.

abcb/abecb/abeb/abeb/ab

+1 +3 41 S 43 4] +1 +3 =i

' +3 +3 i I
ABEF=>IJMN=>QRUV

0 g 24 60 120. 210
! 1 1 t
L 18 +36 60 T 90
I, | . - -
+12 48 424 +30
L o4 }

+h i ré
VA9 -4 +25=7-2+5=10
V81 -39 +416 =9-7+4=6
J64 - J9+36=8-3+6=11

x7 +2x3 +3x4
2314 ——— 21— 28
x7 +3x4 +4 x5
3— 21— 28—— 35
x7 +4 x5 +5x6
4 —— 3 28— 35— 42
22+ 20=24
32430=39
42 4+40=56
7+4+2=13x3=39
3+9+1=13x5=65
2+64+5=13x7=91
'y
15 m 10m “r«—l——v]:“
s '
£ 20m D i
AG
Starting Point
AE=AB-EB=15-10
=5m
9
8 N
7 N-W
6 «A 12w ey
S

3
Clearly, if minute-hand is in West
direction, then the hour-hand is in
North-West direction.
FELIMINATE cannot be formed
because there is only one T in
PENULTIMATE.
PRINTED cannot be formed because
there is no ‘DY in PROCRASTINATE.

SECRET cannot be formed because
there is no ‘R’ in ADOLESCENT.

. As

S P A N K

v

P § N A K

28.

29.

30.

31.

32.

33.

34,

ssc TEST sERIES A soLuTION j“\%

CLASSES
Similarly,
T H R O \ii
H T OR W
As,
ANCIENTand NA TURE
2516859 529048
Similarly,
TRAIN
94265
As,
BLUE— EUBL
1234 4312
Similarly,
B ULB-» BLBU
1234 4312
1620x£+ 960x—g-q
100 100
= SN0 % s
100
648 + 288=52x
- 036
= 5 et
52
x=18
2x3+6-12+4=17

(a) 2+3x6-12+4
=2+18-3=17
.. Option (a) is the correct option.

(a) 15 ¢ 3 B 2 A 6 E 2

=15+3+2>6x2

=5+2>12
=7>12 (%)

(b) 15B2G5F4G4
=15+2~5<4-4
=17=58£0
=12 < 0(x%)

() 15C3B2D6B1
=15+3+-2=6+1
=5%2 =7
=7=7)

(d) 15B3D4E6=15+3=4x6
=18=24 (%)

2334 A5104 =24=4%x5+4
. Option (b) is correct.

By the given condition,
W
E A D C B F
——t——t—1 O N
E

. F is on the right end of the row.



35.

36.

37.

38.

40.

42.

By the given condition, a

XI—....—-..._.—,.
Z

Y . N
W%_E
l SW
S

P

.. P is in the South-West direction
of Y. ;
Friend

-
A
Katc 102,
W E
8 kmn 103.
4 km S

8 km
Clearly, Kate is facing North.

B0 -

Clearly, only conclusion I follows.

It is clear from the given information -
that only Ravi has five pens.
Therefore only conclusion IV is
correct.

Hard-working

Serious

r'—> Intelligent

The shaded portion shows the hard
working people who are intelligent
but not sincere. Thus the required
number is 2.

The numbers of people speaking only
Hindi is 200 which is shown by the
shaded portion.

Ulliterate

-
Employed

—

Social worker

Truthful

Those who are literate employed
people but neither truthful nor social
worker are represented by the shaded
portion in the figure,

. 101.

104.

105.

Let the two digitbe =10 x + y
The number obtained
interchanging the digits = 10y + x
The difference between the numbers
=10x+y — (10y + x) ‘
=10x+y -10y — x
=9x - 9y
=9(x~y)
- Such type of numbers are always
divisible by 9.
323=17%19
.~ It has only two prime factors.

Time taken by both the punctures
deflate the tyre

by

_9x6
9+6
_4
15
=g
15
=3§min 107.
5
S§M=12C
= 2M=3C
By the formuia M:MZ
Wi W2
8Mx16=(20M+6C)xD
8Mx16:(20+4)MXD
e R0 el
24 3
1 ? 2 = 1
A’s and B’s one dayswork—ﬁ- 108.

B’s and C’s one day’s work = flg

A’s 5 day’s work and B’s 5 days’ work
together, i.e. total 10 days’ work

1 5

=5%x —=— part
12 12 _

B’s work in remaining 2 days and C’s -

work in remaning 2 days, i.e. their 4

1 1
days work =2 x — = = part
¥ : 16 3

8
.. Remaining work =1 — [,5‘ e 1]
12 8
gk part
24

11
C’s 11 days work = — part
y 24]J

C’s 1 days work =_2i part

B's 1 one days work = N
16 24
48 48

. B can complete that work in 48 days

106.

yéy‘z

The length of the lines joining the
three centres area+ b, b + candc - ¢
respectively.
By the formula,
Are'aofAz\/s(s—a)(s—b)(s—c)
where,
S=a+b+b+c+c+f1
2

=a+b+c

A\ :
_J(a+b+c)(a+b+c—a—b)(a+b

+¢c—-b-c)(a+b+c—c—a)
=Jla+b+c)a-b-c

= Jabc(a+ b +¢)

Let the spheres so formed be n, then
the volume of metallic cone =n x
volume of one sphere

lﬂth =nxirir3
3 8 v

%n(30)2x45=nx;in(5)3

= R s A i
3 4

125
_ 90045 _
500

Let the centre of the cifcle be O, then
In the given circle,

81

AE x EB=DE x EC
= 2x6=3xEC
= EC =4cm

Now,0Q J.A'B,:.AQ:QB=§=4cm

Again, OR 1 CD, CR =DR
_4+3_z
2 2

BB =T~ &t = i =00
2 °7h

In AOQB, OB = 10Q? + QB2

= —
= (lJ 4)? = 1+16=l’6_5
2 4 2

2



J65
= i
2
65 cm

109. Let the number of kites given free by
the vendor = x

Then, % 100=10%

+X

= 100x =270+ 10x -
= 0x =270 = x=3
. In order to give 10% discount the
Vendor gives 3 kites free on the sale
of 27 kites.
After manufacture of the ring, the
total expense = 1600 + 2400

=3 4000
List price of the ring = T 7800

Selling Price = 7800 x ‘00~ %)
100

110.

=37020
7020 ~ 4000
4000

3050 ~ 75.5%

-, Profit % = % 100

111. CP of article = ¥ 450

Marked price = 450 x (109+ 20)
' 100
100

540 — 496.80

Discount % = x 100

4320

x 100 = 8%

112. By the given condition,

Area of circle o, 12

= Area of circle = kr?

Area of bigger circle = k(5)% = 25k

Area of smaller circle = k(3)% = 9%

Area of the

=25k - 9k =16k
. Area of annular zone :

‘*"ﬂzer circle

=16k : 25k

=16:25

Let the rotal amount = ¥ x

¥, 7 x 8

i B B e W e

3 100 4 100

- x_'_\:-.i]xl_o._sﬁ

3 4 100

12x —-4x-3x
T T
12

annular  zone

Area of

113.

10

100
= 561

7x
300

2x

100

7x
T peenar
300

2x
100

3x

—— =561
126

— Jua

600
AlX =561
600
_ 561 x 600
!
=11x 600

x =3 6600
114. Total age of Ram and the children
=17 %3 =51yrs.
Total age of Ram’s wife and the
children = 16 x 3 = 48 yrs.
Total age of the
=51-33 =17 yrs.
- Ram’s wife’sage=48 — 17 = 31 yrs,
Salaryon1-1-1983=%380
salary on1-10- 1983

=T380+T40=37420
salary on 1 - 10-1984

=3420+3%40 =7460
salaryon1-10 - 1985

=3460+ ¥40 =¥ 500

Pension after the

children

115.

person’s

retirement = 2 (Avg. of last three yrs)

[380% 9+420% 12 + 460
1 x12+500x12
2 3x12

36

(3420 + 5040 + 5520 + 1500]

=215
36

Let the CP of one cow = x
20x - £+40x E +16x
100 100

=1

gt

1_ 15480
= xR
116. Let
25

100
=T 6570
38 ’
3x+ ? X +4x=6570
15x +38x + 20x
5

= 6570

78% _&570
5

= 6570%3 _ ¥ 4e0
73

117. Percentage decrease in the second
side
. 30
e
100+ 30

=500 oy L g
13 13
118. Total distance travelled by Ram

=1200x >
2

3000

130

= 3000 km

- 31: % 3000 = 1000 km

Distance travelled by Ram by train
=3000 - 1200 - 1000 = 800 km

1000

8 x 60

25
= — m/s
12

speed of thief = —020_ - 3 /s
1W0x60 3
- Time taken to catch the thief
100 100

25 5° 25 20

12 3 12

= —1 00;—12 =240 sec.

119. Speed of policeman =

Distance travelled by the thief

zg x 240 =400 m

120. Annual Instalment
100 ) (100 4
100+ r 100+ r
= Total Debt
= Annual Instalment x

. 2
i + 290 =21000
100+ 10 100 +10
= Annual Instalment x

i —t— Lo =21000
11 121

= Annual Instalment x
[EO + 100

121

]: 21000

21000 121
210
Annual Instalment =12100

4 + 343

1;'7+4\/'_
4+3\f—

S Ja+3+2.28
4+3V3 4+343

Je+v3)? 2+43
_(4+343)2-+3)
T @+V3)R2-3)
_8—4V[§+6\/§—9
I T R
L =243 -1=412-1
On comparing both the sides,

= Annual Instalment =

121. A+ VB =

A=-1;B=12
s Bes A w TH = (=11
=12+1=13



2
122, x2+x+1=[x+%) +q2

2 2

Xx“+x+1=x +l+2-x‘l+q2
: 4 2

I _ .3 2
T vt = =
’ q q

3
4
=
E] +
4
123.a*-4a~-1=0
= a’-1=4a
a—1=4
a
Squaring both the sides,

2
(a—lj =16
a

1
= a2+—2—2=16

3
= g= = q= 7

o k1)

=]

(i)

a2+—1—+3a§—(az+l)
2 a

a 612

(e

=18+3 x4
=18+ 12 =30

124. x:%+vjaz+b3 +%fa—-(a2+b3)
3
+b3}

i
e
e
+3-%}a'+m§.%_\/m
(JordeFor +fa et )
=a+ya®+b3 +a—Ja?+ b
+3-Ya+ a2 +5%) (a- ya2+b3) - x

=2a+3x-Ja?-a2-b3

=2a+3x-3-b%
=2a+3x (- b33
=2a-3bx

= x° +3bx=2a

130.

125. x? + y2 =80
(x+y)(x-y)=80
x-y=8
from eq. (i) and (ii),
(x+y) 8=80

(@
... (i)

127.

128.

- 129.

= x+y=10

Avg. 0fxandy=3c#2f=ﬁ:

1 1

T8 g7
Ll T g g0
(14297 a+2b-9

2+2(b—a}+2(a—b)
+2a—b+2b—a+b—a

T 4p0-E
_ 242b0,
raEtt Ay

B gugbrac  yos
T242b-d,gab
a 4 b 15

—=—and —=—=
b 5 c 16

zﬁ—b_

=1

c= 4 i 5
a5 T\:*lﬁ_
60 :75 : 80
a:b:c=12:15:16
" -7  1B0EY-72r
45¢2+20a  45(16)% + 20 (12)?
_ 18x256 -7 x 144
T 45x 256 + 20 x 144
_ 4608-1008 _ 3600
T 11520+ 2880 14400

]
4

In circle P,

ZACB =180~ 129
=180-65=115°
£BCD =180- ZACB
+ ZBCD and ZACB are collinear
= £ZBCD=180-115=65°
. £ZBQD =2 /BCD
x°=2x65=130°

> B and C are tangential point on
circle Co,
- OB L ABand OA =
OB=3cm

=4/(12)% - (3)?
=,/144 -9
=+135=315

12 cm,

132,

133.

AB x OB

=%3\Ex3=£9 /15 cin?

Area of ABOC =2 x Area AAOB

—2><§\/_ 9«/_5cm

Area AAOB = %

=

{". the angle in the segment is half the
angle formed at the centre} '

I is the in centre of AABC
.. Bl is the angle blsector of ZABC

= ZABI = ZIBC —?

In AABI, ZBAI + ZIBA = ZBID

{Ext. angle}
o ELX y
2 2
2+ x Z+x
=y = =2
2 y
End pomt
E
6 mile|
C———D "
. |3 mile:
6 mile] : .
Bmile A Suarting
point
In AEFA

EF=ED+(CD=6+6 =12 mile

AF =BA - CD=8-3 =5mile
Distance between the starting poin:
and end point.

EA = \/(EF)? + (AF)?
=J(12)%+(5)? = 144 + 25

169 =13 mile

wABCDis a || gm,

- AB|| CD or AB|| CP 1)
It is given that, BC = CQ
or, C is the mid point of BG.
From (i) and (ii) , P is the mid-point
of CD.

i)



134.

135.

136,

~.we know that a median of a triangle
divides it into two equal triangles.
- In A BPQ,

Area A BPC = Area A PCQ ...(iii)
and in A DCQ,
Area A PCQ = Area ADPQ ...(iv)

Thus, from (iii) and (iv),
Area A BPC = Area A DPQ.
A D

VAVAN

C E
AB = DE and BC = EF then
AABG = ADEF,

when ZABC = ZDEF

By (SAS) rule

Let AB be the common tangent, then
AAOCQ' is a right angled traingle.
(00)? = A0? + AD’?
(50)% = (40)% + (30)2
2500 = 1600 + 900
2500=2500
Again, OO0’ L AB and divides AB in

-two equal parts.

- In A AOC',
Area A AOOQ’

Y aox a0 =Loo xac
2 2

l><40><.30:—1-><L='0>-<1ﬂl(3
Z 2

=180°-133°
£ZBCP =47° = /BCD
137. Sum of all £ of any pentagon = 540°

. The smallest angle = 540 x % :

=30x2=60°
138, sec + tan 6 = 3
1 sin O
—_—t =
cos cos@
1+sin6=w/§cose

(1 +sin 8)% = (3 cos 0)?
1+sin®0+2sin®=3 cos?@
1+sin’0+2sin0-3 cos?0=0
1+sin?60 - cos?9 - 2 cos? 0

L A

=-2sin9
sin0+sin®0-2 cos?0=-2sin 8
25sin?0-2 cos?0=-2gin@
~2 (cos?0 —sin®0) = - 2sin O
cos 20 =sin®
cos 28 = cos (90° -

20=90° -9

B 20 B
3

)

L

tan 30 = tan 3 x 30°

tan 90° = e
= Infinity
sin (60° - 6) = cos (y — 30°)
sin (60° - 0) =sin [90° - (y - 307)]
= 60°-0=90° -y +30°
= 60°-0=120° -y
= y-0=120°-60°
v~ 0 =60°

Taking tan of both the sides
tan (y — 8) = tan 60°

139.

142.

/ ¢

Let the length of the pole in park ABC
=PQ

APBQ = APCQ = APAQ

= PA=PB=PC

. The pole is standing at the

circumcentre of the park.

sin® cos®

x y
sin@ _

143.

In right £ triangle AABC,

AC = \[x +y

sin® - cos 8 = =
Jx2*+y2

sin 6 — cos 0 = —
Jx2 4yt
Total expense on cricket and Hockey
=¥ 80,000
= 81+63=780,600
Total expense on games

- 80000 x >0
81+63

= 80000 x 2% _ 22 00,000
144

Y
Jx2+y2

146.

147. Required percentage
_63-36 % 100

= = x 100=75%
36

12005 1150=6:4 |6
2004 ]l
12003 200-8:

149. Percentage decrease in income from
2001 to 2002.

=4-3  100=25%

150. Clearly, in the years, 2002, 2004 and

it Ac = 40%30 tan (y —6) =3
>0 140. (1 + cot 8 — cosec 8) (1 + tan 6 + sec ) por (149-150):
AC =24 cm =1+ tan@ +secO+ cot6 + cotBtan B |
=2AC =2 x 24 + cot @ sec 8 — cosec O — cosec @ tan 0
=48 cm — cosccOsecd
-,1+~1-—9—+ sec ed-cose 1
Powered by Ccos Sln 9
GUPTA :
‘CLASSES COS 0 _L — cosech ~ -1_ Lne_
WWW. g:lvprtnasxl:'lc;ss;es com sin 9 cos @ sin@® cos®
Like us on facebook-
https://www.facebook.com/gupt: — cosec - secH
2
ZADP =23°¢ =2+ Swe_.,.secg_;_cosece
LZADC = ZABC =23° sin®-cos O
Both are the angles in the same — cosec 6 — sec B — cosec O secO
segment hence are equal. - 1 - 1 =
ZBPC =180° - 70°=110° sin@®-cos® sin0-cos6

In ABPC
ZBCP =180° - ZPCB - /PBC
=180° - 110° ~23°

141. tan8 + cot§ =2
tan™ 6 + cot" =2

(0° < ©<90°,nis an integer)

2005 there is a decrease in income. If
the income is increased in these
years, the expense will also increase.
Hence, there are 3 such years.

5.
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151 (b)T=T Inwhcih there has been (singular) BT TATT &RTT |
152 (c) T discovered &T WANT BRI | &9 < :
Discover = to find somebody/ something that was hidden or that you did not expect to find.
Invent = to produce or design something that has not existed before.
153 (b) T&T fifty acres (plural) BT TART BT |
9 91 Bl o
Each house has acres of space around it (=alotof space)
154 (b)TET by many finer BT YT BFTT| to be T YANT Sferd & |
155 (b) TET inferior to &1 TART EFT|
9 91 BT o

Modern music is often considered inferior

to that of the past
156 (b) 157 (d) 158 (c) 159 (d) 160 (d)
161 (b) ¥1g Inadvertent (Adjective) T 31ef & : IRATTET, MU heedless, unintentional; by accident)
162 (@) ¥rs& Fortitude (Noun) &T 31ef &: w8, iR, &

Courage shown by somebody who is suffering great pain : bravery : courage
163 (b) e Duplicity(Noun) &7 @1 & : Ba—duc, ¢iEdron, gear  dishonest behaviour that isintended to

make somebody believe something which is not true; deceit

164 (d) wrss  Fiddity(Noun) &7 31 g¥AMGR, fAwT, w@rfifad  (the quaity of being loyal to  somebody/  something:
faithfulness)

165 (b)¥es Vanguard (Noun) T 37ef B : TR, 3ol H-Tga

(the leaders of movement : the part of an army etc. that is the front when moving forward to attack or the enemy; flag
bearer.

I H TANT <

The company is proud to be in the vanguard of scientific progress.
166 (b) W Taciturn (Adjective) BT 3Fef & : AT, FoT

(tending not to say very much; in a way that seems unfriendly)

SAPT antonym talkative (aTemel) BT |

167 (d)Zrsg Artisan(Noun) &T 31ef 8 RIcUaR, adR, Rredl, HRIR
(a person who does skilled work, making things with
their hands; craftsman)
HPT antonym unskilled |abour BT |
168 (d)3res Amicable (Adjective) &1 1ef € : AreTayel, Hgul, el (doneor achieved inapoliteor friendly way
without arguing, friendly) 2T Hostile (Adjective) &T 1f © : I, Ufddzel =g,
(very unfriendly or aggressive and ready to
argue or fight : opposed to)
QIR H YANT <
An amicable settlement was reached
She was openly hostile towards her parents
169 (a) ¥ Mitigate (Verb) &7 1ef © : &H &A1, TSHI, A< ST (to make something less harmful, serious etc aleviate)
35 Aggravate(Verb) &1 312f € : &R g1 <A1, TR 99T Worsen: to make an unpleasant situation worse)
QIR H YIANT <
Soil erosion was mitigated by the planting of trees.
Polluation can aggravate asthama
170 (c)ere= Aversion (Verb) &T a1ef 2 : gom, fagy, fawfer (agreat feding of disliked; hatred)
9P antonym liking 19T |
171 (a) Idiom out of spirits T 12 & : sad, gloomy, depressing; without much hope of hapiness
172 (a) Idiom smell arat BT 372f &: to suspect that something  iswrong about a situation




GUPTA
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173 (o)
174 (b) Idiom to keep somebody on their toes T 31ef & :

To make sure that somebody is ready to deal with anything that might happen by doing things that they are not expecting :
alert.

qrE H AN T
Surprise visits help to keep the staff on their toes
175 (d) Phraselook into @7 31ef 8 :  To examine something
QR H YA <
A working party has been set up to look into the problem.
176 (d)177 (c) 178(d) 179 (c) 180 (b)181 (d)182 (b)
183 (@) 184 (c) 185(a) 186 (b) 187 (b)188 (d)189 (Q)
190 (@) 191 (b) 192 (a) 193 (a) 194 (b)
195 (c) 196 (C) 197 (8
198 (b) Hodge-podge= HOtch —potch= number of things mixed together without any particular order or reason.
199. (d), 200. (c).

1 B 26 C 51 C 76 C 101 B 126 B 151 B 176 D
2 B 27 D 52 D 77 C 102 Cc 127 C 152 C 177 Cc
3 B 28 C 53 B 78 A 103 C 128 C 153 B 178 D
4 A 29 D 54 D 79 C 104 A 129 B 154 B 179 Cc
5 A 30 D 55 D 80 D 105 A 130 C 155 B 180 B
6 B 31 A 56 B 81 C 106 D 131 C 156 B 181 D
7 B 32 C 57 C 82 B 107 A 132 A 157 D 182 B
8 C 33 B 58 C 83 C 108 A 133 A 158 C 183 A
9 D 34 B 59 A 84 D 109 A 134 D 159 D 184 C
10 D 35 D 60 B 85 C 110 C 135 D 160 D 185 A
11 C 36 A 61 D 86 A 111 A 136 B 161 B 186 B
12 D 37 A 62 C 87 A 112 C 137 C 162 A 187 B
13 C 38 D 63 C 88 C 113 C 138 C 163 B 188 D
14 C 39 A 64 C 89 C 114 D 139 C 164 D 189 A
15 A 40 B 65 B 90 B 115 D 140 B 165 B 190 A
16 B 41 D 66 C 91 D 116 A 141 A 166 B 191 B
17 C 42 C 67 B 92 C 117 A 142 B 167 D 192 A
18 A 43 B 68 C 93 C 118 B 143 C 168 D 193 A
19 B 44 D 69 A 94 C 119 B 144 B 169 A 194 B
20 D 45 A 70 A 95 A 120 B 145 B 170 C 195 C
21 A 46 A 71 D 96 B 121 C 146 B 171 A 196 Cc
22 A 47 A 72 D 97 C 122 B 147 D 172 A 197 A
23 C 48 C 73 D 98 A 123 B 148 C 173 C 198 B
24 C 49 B 74 B 99 B 124 C 149 D 174 B 199 D
25 C 50 A 75 A 100 C 125 D 150 B 175 d 200 Cc
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